N

1.3 |

1.4

, ,F("‘J() == -F(x) =P P. Sym Tum ur‘spmna
NST : f(k) = 2x (1-¢e'" J (4— Fakrfonsieren ) ; x, =
1-|e 'x'f=o' = e"—" /& n (1)=0

¢ 3

i oo T2 alel T e T ea 07| Bt ﬁi'r L.H. herslelen!
[ Zx 2x —» 0o L.# FEEEEE
REIE = = > —— e -3
FC A X2y Qx’--‘f__)oo. , %0 1_)0000 -

y=2x “at euma Schrage Asquptole

r

£0x) = ax (4-31")/\7)?«33«3! (1-¢' ) .Z.-x.ed-xﬁ

FO0=b(2xe™) ¢ 2 (1-e*) m2-2 e urt el

| ‘ Tl e SEEETEL
1.1 %m: ,-F,C-x)=-2x+2.xe [ =-(2x-2.x€ x)?,*oc(x),

= 'C", —,x" —ye -x, . ]
F ()= 0%2 2% " e @xe™™ et e P-??eaz
(‘éx +8x - P)C") el *T = [EX C3-2,x )eq T
£"(x) -—Qx(a .Zx) e | T 40 = vx(3 2x)—-o : x,=o

32,::—0(,’-7&?-% —-.> Xz,'."{: 1{6—:".5 ife

Ale ANST gind 1-f m. v2Ww = 3 {-’(x) =( gx +12,x)e x,
| L JEEEDZEER NS o]

Ve P T+ (o [ -] [0 [ #[ 0| =FI u,-cewa.aamu

GF Rkr W, Gkr W, rebr Wy Ulr  explizet veréanai

- f@)=0 = v, (o]o) —1

FOE) =2 - a/‘e MR R e )'*

(v (—1!"[{‘(1 ﬁ,)m 2 (422/0,9@) M« fzz,/ae—qss)

-

—
"

(we&m &3h ’J



	Page 1

